
             artafon RG 02 & RG02F

Radiator quards installation instructions 
for motorcycles KTM Husqvarna 2017,2018
4T 2T TPI EXC TE FE XCW XC

WWW.ARTAFON.COM



Set contains:
8 spacing bars:
3 long and 1 short - on the left side.
3 long and 1 short - on the right side.
14 hat- screws M6 x 14mm for mounting spacing bars.
2 regular screws M6 x 14mm for mounting spacing bars.
M8 Screw + 2 washers + self-locking nut - to 
attach the inner brackets to the frame.
2 inner brackets - right and left
2 external brackets - 
right and left



01)  Remove seat.
02)  Remove plastic side covers.
03)  Remove plastic radiator guards.
04)  Remove cooling liquid.
05)  Remove radiators.
06)  Move the overflow pipe at the back of the thermostat 
       (depending on the model).
07)  Set all the wires to get enough free space on the side 
       of the frame.

Before installation:



01) Screw (using hat- screws M6 x 14mm) the spacer 
bars for inner brackets:
3 upper long and 1 lower short on the left side and 
  the same on the right side.

Start installation:

LONG

SHORT

LONG

LONG



Install the left inner brackets marked with the letter "L".

Put the washer on the bolt between the bracket 
and frame!



Put the second washer on the bolt between 
the bracket and frame!

Install the right inner brackets 
marked with the letter "R".

Wind up the nut.



01) Push the lower part of the bracket toward the 
back of the motorcycle to lean on tenon mounting 
guards and check does bracket surface  adjoins to 
the frame.

02) Tighten the nut.



Install the right and left radiator.

Screw the external bracket.
h

a
t-

 s
c
re

w
s
 

M
6
 x

 1
4
m

m

regular screw 
M6 x 14mm

h
a
t-

 s
c
re

w
s
 

M
6
 x

 1
4
m

m

regular screw 
M6 x 14mm



1)  Install plastic radiator guards.
2)  Fill cooling liquid.
3) Install plastic side covers.
4)  Install seat.


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

